
Left Bracket (w/Gasket) Bottom Bracket Right Bracket

1" Filter
Config.

Reposition 
Screws.

2" Filter
Config.

2" Filter
Config.

2" Filter
Config.

Reposition Screws 
& Pieces

Reposition 
Screws.

1" Filter
Config.

1" Filter
Config.

w/Gasket

w/Gasket

21-3/8"

         3847 Wabash Drive
MIra Loma, CA 91752

Ph: (951) 685-1101     Fax: (619) 872-9799

INSTALLATION INSTRUCTIONS
FLTAFFHP1860 Filter Rack for

Affinity Cooling/Heat Pump 1½ - 5 Ton Units

Form: FLT-101 R1 1

ILL. 1

TABLE 1 - Configure for 2” Filter

RIGHT BRACKET
(Attach to electric control box
with two #10 sheet metal screws.)

 

ELECTRIC CONTROL BOX

BOTTOM BRACKET
(Attach to coil drain pan
with two #10 sheet metal screws.)

LEFT BRACKET
(Attach to electric control box

with two #10 sheet metal screws.)

COIL DRAIN PAN
CONTENTS  INCLUDED QTY. .

Left Bracket 1

Bottom Bracket 1

Right Bracket 1

13-3/8” x 23-3/8” x 3/4” Filter 2

#10 x 1/2 Sheet Metal Screw 7

Installation Instructions

1. Install the three brackets into
unit as shown in ILL. 1.

2. Brackets are preassembled to
accept 1” filters.  Reference
Table 1  to configure for 2”
filters.

3. Slide filters into place.



         3847 Wabash Drive
MIra Loma, CA 91752

Ph: (951) 685-1101     Fax: (619) 872-9799Form: FLT-101 R1 2

Installation Instructions

1.

2.

3.

.



         3847 Wabash Drive
MIra Loma, CA 91752

Ph: (951) 685-1101     Fax: (619) 872-9799Form: FLT-101 R1 3

.



         3847 Wabash Drive
MIra Loma, CA 91752

Ph: (951) 685-1101     Fax: (619) 872-9799Form: FLT-101 R1 4

.

.

.

.


